&b AEE E Al A
ot

20138 & =0la Les|H 2ot =s0 ~ U2 =
N 23t =0
B 25
Sl OIEGHAASE CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ch2std st 19,813,143 20,205,717 A 392,574
= 947,500
& 3,538,000
J| 8,064,425
& 319,389
< 6,943,829
=238 7,801,546 7,257,448 544,098
J| 5,328,737
< 2,472,809
Ol=0&8adsa 111,386 112,683 A1,297
J| 98,697
< 12,689
ZS 00 =0 X AL 111,386 112,683 21,297
J| 98,697
< 12,689
308 A EHHSOIA 105,229 106,526 A1,297
J| 93,241
< 11,988
01 HXNHHNBHELS 105,229 106,526 A1,297
O0=0HdE2SAE2Y 105,229
J| 93,241
< 11,988
403 MtXISHHE X201 & 6,157 6,157 0
J| 5,456
< 701
01 XM A=2EE 6,157 6,157 0
O0I=HEESAIEIISEZ 6,157
J| 5,456
< 701
HAYSUEsAISI =S 7,690,160 7,144,765 545,395
J| 5,230,040
< 2,460,120
Ct23tE X & (KHA) 1,545,304 1,114,740 430,564
201 Let2d] 32,200 28,000 4,200
01 At 22l 32,200 28,000 4,200
Opt=2Hl 20,000
OUSINFRN2ANZ R USH= W I &2t 20,000
O2ds¢ 5,000
OU2INEXNE A FARAY S 5,000
[E=3=3:] 7,200
OUSNEXNIGRFISEHI 7,200
202 O4dl 43,200 0 43,200
01 = LH o4 1l 43,200 0 43,200
OGS NEXNJL SN 43,200




2AM: O2stdE=s
M (2o E
Tl HUBTISSAEIE A EEREED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
203 YR =&Y 15,000 10,000 5,000
03 Al Z=XIH R =X 15,000 10,000 5,000
O3RN 2H Y R E= 8| 15,000
301 dEtE A= 6,000 6,000 0
10 HALAIHI B AZ 6,000 6,000 0
OCESSIEUSHAZFLEAE EA 6,000
307 212t01 & 584,000 354,000 230,000
10 MaISXIEX 584,000 354,000 230,000
OCESstEAaAgsd )32 100,000
OCEsHEsXd2FIEZSH 30,000
OUSSIIISU2 RN AL S USAY 35,000
OGN EXHILIH2 Y 7,000
JZ2NMZIZEZTHEESAINLE 7,000
OZM=EEUOSSFHESXNEHX A 80,000
OCESHEXNEHNSAHAHU S 20,000
OC23IE X & A EH EOFAFE HI 15,000
OGN 2IHE 2 A 80,000
OO sT2 )L 2H A 100,000
OUSstdAELICIAIE g T 10,000
COOCtE 3OS A Ef = AF 50,000
Otzstgass 50,000
308 XX S M SO0l & 858,904 716,740 142,164
01 AXHNBIMNEXZ 858,904 716,740 142,164
OZE0|0EdRelds2E2d 160,000
OCG2IH=sA 23 FH 20,000
OUSSIESSNAESAMANEE 50,904
OG2t=2s2s XA 18,500
OCssitso=s2gsory 100,000
OCeE RS2 E M AN & 10,000
OZ=000du=sX& 41,500
O=d0oioIFHEESAEE2H 91,000
OANZ OS2SR X & 102,000
OCssIEESdE2 IHSAXNH 165,000
OZ20/8HHIECHZ3H0I0H W & 100,000
403 XHXI €I S Xt =201 ® 6,000 0 6,000
01 HXHXMAHEE = 6,000 0 6,000
OZE0oioIF=HEESANEIsEL 6,000
CtE23HENE X 155,982 142,400 13,582
307 212t01 & 100,000 110,000 A 10,000
10 M3ISXIEX 100,000 110,000 A 10,000




ol
=

N 23t =0
B 25
ool HBsUH2AMEES (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OGRSt MLAS=SSTHEIES SR 60,000
Ohsstnsitd=2etd Ed s XA 40,000
308 XX EHHSOIA 55,982 32,400 23,582
01 HIXNHHBNEES 55,982 32,400 23,582
OOIsnHs0HSHHE 25X 55,982
2L uSAME2E (IA) 86,400 56,000 30,400
308 XXM SO A 86,400 56,000 30,400
01 IXNSHHBANEES 86,400 56,000 30,400
OUESNESLE2NEATFHXS 86,400
CG2isEaLNEHLSAE 5,902,474 5,614,625 287,849
J| 5,230,040
< 672,434
308 XtXIEHHSOIA 5,902,474 5,614,625 287,849
J| 5,230,040
< 672,434
NXSHEBLELS 5,902,474 5,614,625 287,849
OUGSNsEAINEHL=EA 5,902,474
J| 5,230,040
< 672,434
AMEFLESLHYES 11,771,597 12,652,769 AB81,172
= 947,500
& 3,538,000
J| 2,735,688
& 319,389
= 4,231,020
FAESHMH 4,768,720 6,290,720 A 1,522,000
& 3,538,000
< 1,230,720
ANZEALAES=EHALEHE 2,260,000 4,048,000 A 1,788,000
& 2,260,000
403 UHXSHHSA=0l& 2,260,000 4,048,000 A 1,788,000
& 2,260,000
01 HXSHHMA2E X 2,260,000 4,048,000 A 1,788,000
OANZEAGEAAIEAE 2,260,000
= 2,260,000
ANZEALESAALNES 1,278,000 1,014,000 264,000
& 1,278,000
403 MtXISHH S0l & 1,278,000 1,014,000 264,000
& 1,278,000
01 XM A=2EE 1,278,000 1,014,000 264,000
OANZEAE B AN E S 1,278,000
= 1,278,000
SEALAEISHSUH2INR 1,230,720 1,228,720 2,000
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2AM: O2stdE=s
MY AMHAUSHULS
@2 3ArEsSHdEsSKE (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
71 184,145
& 379,560
307 QI2t0| & 563,705 563,705 0
Il 184,145
& 379,560
10 Al S X2 X 563,705 563,705 0
THAGESHNSHAHKA 563,705
Dl 184,145
< 379,560
CEHAESHANEFHAE X S AFBH X X & 38,880 38,880 0
9 19,440
& 19,440
307 212t0| & 38,880 38,880 0
J| 19,440
o= 19,440
10 Al S X2 & 38,880 38,880 0
CHAMEASHAA LK S AP X X 38,880
Il 19,440
& 19,440
ANZEAELAANLDEH LA X S A X XA 204,240 184,560 19,680
Jl 204,240
308 AXISHXMSOIH 204,240 184,560 19,680
Dl 204,240
01 HXHHNBIMNEXTS 204,240 184,560 19,680
OANZEAESSEAEEHAE X S A X X & 204,240
J| 204,240
HAULHEANLAZZ2 )HR2AI A 41,400 42,600 A 1,200
Dl 39,700
& 1,700
307 212t0| & 3,400 3,600 A 200
Jl 1,700
& 1,700
10 Al S X2 X 3,400 3,600 A 200
O AGLSEANLdZZ )SHES2AXNA 3,400
Dl 1,700
= 1,700
308 AXISHXSOoIH 38,000 39,000 A 1,000
Dl 38,000
01 AXHNBMNEXTZ 38,000 39,000 A 1,000
OANZEAEUSEAEZZ2 JHSAXJ 38,000
Jl 38,000
HAEEWHAH 71,375 69,000 2,375
Jl 61,500
== 9,875
307 QI2t01 ™ 10,000 10,000 0




2AM: O2stdE=s
MY AMHAUSHULS
@2 3ArEsSHdEsSKE (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Pl 5,000
& 5,000
10 MaIESXEX 10,000 10,000 0
OS2 10,000
Dl 5,000
= 5,000
308 AXISHXSOoIH 61,375 59,000 2,375
J| 56,500
= 4,875
01 AXHNBMNEXTZ 61,375 59,000 2,375
OAMNZEHRRSSH 40,250
Dl 40,250
OAEANE2IERAJ/SIXE 21,125
Dl 16,250
= 4,875
SPNEITE R 41,600 41,600 0
Dl 41,600
308 Xt x| &+ &I S0l & 41,600 41,600 0
J| 41,600
01 AXHNBMNEXZ 41,600 41,600 0
OFAE S0l X & 41,600
Jl 41,600
HAU2SEL 198,000 198,000 0
Dl 168,000
& 30,000
308 AXISHXMSO0IH 198,000 198,000 0
Dl 168,000
= 30,000
01 HXHHNBIMNEXTS 198,000 198,000 0
TEHAES2IEXNHA 70,000
J| 40,000
o= 30,000
OANZEAEHESSEXNE 128,000
Dl 128,000
HAESNZ0IHM 029 A& 1,203,150 1,213,590 A 10,440
= 925,500
== 277,650
308 Xt & S0l & 1,203,150 1,213,590 A 10,440
= 925,500
= 277,650
01 AXHNBMNEXTZ 1,203,150 1,213,590 A 10,440
OAESt RSO0 2E X2 1,203,150
= 925,500
& 277,650
HAGUXHRUAI A EZZ N2 A 10,000 10,000 0
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N 23t =0
Hu: AMHAUSHULIS
el EAEESESIRA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 AXHHILEES 58,500 58,500 0
OZSEAEL 22 EXE 58,500
J| 58,500
e=EN S PADNE-! 2,774,947 2,055,534 719,413
J| 1,758,563
= 1,016,384
HE RS WX 60,000 60,000 0
308 XXIEHHSOIA 60,000 60,000 0
01 AXHHILEES 60,000 60,000 0
OHE A2 I A& 60,000
HAREAEXE 88,800 88,800 0
307 gl2tol & 30,000 30,000 0
10 A2l S X2 X 30,000 30,000 0
O0ci2dAddid 2 EHGA 30,000
308 XXM SO0l A 58,800 58,800 0
01 IXNHHBNEES 58,800 58,800 0
OFA2Es2L29 X 58,800
CEAHEH2Y 18,200 38,250 220,050
307 21201 A 12,200 18,250 A 6,050
10 A3l S X2 = 12,200 18,250 A 6,050
O3 A2EEHOZZRAEA 12,200
402 QI2H X201 M 6,000 20,000 A 14,000
01 QI2ZEAt=2 82 X 6,000 20,000 A 14,000
OZ4=sc3A2HEHIISES 6,000
ELAEUSEXNIMATRS 1,038,400 753,650 284,750
J| 776,750
= 261,650
307 glz2+ol & 523,300 366,000 157,300
J| 261,650
< 261,650
10 A3l =X 2 X 523,300 366,000 157,300
OEEA2ESEXNEMARSE 523,300
J| 261,650
= 261,650
308 XtXIEHH SOl A 515,100 387,650 127,450
J| 515,100
01 AXHHILEES 515,100 387,650 127,450
OANZELAISENEMATS 515,100
J| 515,100
HAUSEINHEZOSH2AXNE 598,862 494,322 104,540
J| 299,431




23t st
AEFAEISHLES
FAESXRE (Sl & &)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
< 299,431
307 21201 A 598,862 494,322 104,540
J| 299,431
< 299,431
10 A3l S X2 = 598,862 494,322 104,540
OE3AESENEIZNSE2AXE 598,862
J| 299,431
< 299,431
sgstHEA2ENE SIS XA 338,000 125,000 213,000
J| 291,200
< 46,800
307 21201 A 156,000 125,000 31,000
J| 109,200
< 46,800
10 A2l =S X2 X 156,000 125,000 31,000
=R PNE G- b 156,000
J| 109,200
< 46,800
308 XAXIEHHSOIA 182,000 0 182,000
J| 182,000
01 HIXNHHBNEES 182,000 0 182,000
OAZSdsetE A8 NS S A R 182,000
2l 182,000
L2EEH2Z 632,685 495,512 137,173
J| 391,182
< 241,503
307 21201 A 350,568 330,568 20,000
J| 143,710
< 206,858
10 AFRISXIEX 350,568 330,568 20,000
OEEAEdH2Y 350,568
Jl| 143,710
< 206,858
308 XX EHSOIA 282,117 164,944 17,173
J| 247,472
< 34,645
01 HXNHHNBMNEES 282,117 164,944 117,173
OsdAdaH=2Y 98,461
J| 86,370
< 12,091
OSZIELAEHEH2YE 130,735
Jl 114,680
< 16,055
OgANELAEEHZY 52,921
J| 46,422
< 6,499




2N 2520
HH: YRS (CUR2SINESXHAII2)

el WRAHAHXS

SA - ZE-B(EA) - NRAY - B S il &t o il
HEEs(CRSIHEXNAIN2) 240,000 240,000
HEAHHK = 240,000 240,000
G2stEsXAA0I3 240,000 240,000
702 JI3HES 240,000 240,000
I8 E3 240,000 240,000

OG2sNsXNdIISEA3 240,000




